Tf

©
ob
b

Relationships built en trust

EASY MOUNTING SYSTEMS

WOCH:

INSTALLATION MANUAL

SINGLE-SIDED STEEL CARPORT MOUNTING SYSTEM

Email:sales@wochnmount.com

=
o
=
oo
=
4=
c
3
=}
=
c
L
o
=]
3
s
s
2
0
@
=

.,Ltd Tel:86-2139519802

WOCHN Green Energy co




WOCHIN

EASY MOUNTING SYSTEMS

Content

General .................................................................................................................. Ol
Tools OVEOIVIQW ereeeerrerrerstmminiisitisiniiiisit ittt st s s bttt st et 02
Parts OVEIVIEW -« ooooevrereemememiiiiiniiiieiiiit ittt 03
Com ponents ....................................................................................................... 04
Steps for installing mounting System .................................................... 05
+ Concrete foundation and fix the base po[e ....................................................................... 05
» Fixsupport beam and connect C-pur[in ........................................................................... - 06
+ Fix C-pur[ins .............................................................................................................. - 07
. Optionl:no Waterproof, install pane[s direct[y .................................................................... 08
. Optionz: Waterproof, install vertical sSiNK rail  creerrrrerserirrarrnnsnrassereriassnesiessssersnsasssssssssssssssnsnn 10
+ Fixthe LoF o L LT T T T PP PP PP PP PP P PP PIRPP 15
. Option: Waterproof with Edg|ng ..................................................................................... 16

Quality tested-several certifications

WOCHN Systems stands for secure connections, highest quality and
precision. Our customers and business partners have known that
for a long time. Independent institutes have tested, confirmed and

certified our capabilities and components

Please find our quality and product certificates under:

https://www.wochnmounting.com/



WOCHIN

EASY MOUNTING SYSTEMS

Disclaimer

General

This manual describes the proper installation procedures and provides minimum standard required for product
reliability and warranty. This installation instruction is based on the state of the art and many years of experience
in how our systems can be installed on site. Due to the many variables and requirements associated with a
specific installation. Because of this, these instructions only serve as a guideline for the installation of the product

described in this manual.

« The equipment may only be installed and operated by
qualified and adequately trained installers.

* Priorto installation, ensure that the product complies with
on-site static loading requirements

« National and local building regulations and environmental
requirements must be adhered to.

¢ All work must comply with national, state and local
installation procedures, product and safety standards.

¢ Compliance with health and safety regulations, accident
prevention guidelines and applicable standards is
required.

* Protective equipment such as safety helmet, boots and
gloves must be worn.

« Validate foundation parameters prior to installation, We
recommend consulting with a local engineer familiar with
local regulations and build site requirements, including
soil conditions, terrain and load criteria. All parameters

may impact foundation requirements.

« At least two people must be present for the duration of

the installation work in order to provide rapid assistance
in the event of an emergency.

At least one copy of the assembly instructions should

be available on site throughout the duration of the
installation.

Failure to adhere to our general safety and assembly
instructions and not using all system components,
WOCHN is not liable for any resulting defects or damages.
We do not accept liability for any damage resulting in the
use of competitor's parts. Warranty is excluded in such
cases.

Dismantling of the system is performed in reverse order to
the assembly.

The manual provides guidelines for installation, but it
does not guarantee the quality of installation work.
Please complete the installation in a responsible and

professional manner.

01



WOCHIN

EASY MOUNTING SYSTEMS Tools Overview

>

Z

¢~

6.3, 8. 12, 16. 20

/

6.3. 8. 12, 16, 20

~ Q.

Base pole and concrete foundation fix, 180N -m

Torque Values

Base pole and support beam fix, 100N-m
Purlin connector and purlin fix, 40N -m
Purlins and support beams fix, 40N -m
Sink pad, sink rail and purlin fix, 10N -m
Sink rail and sink kit fix, 10N -m

Mid clamp and end clamp fix, 10N-m

Edging fix, 10N-m

02



WOCH;:

Parts Overview

EASY MOUNTING SYSTEMS

=
—
>
oc
L
>
o
W
e
<
a.
Lo

1)

03



WOCHIN

EASY MOUNTING SYSTEMS Components

2.Components

2.Support Beam(With pre-assembled C-purlin

11.Horizontal Sink 12 Vertical Sink Rail 13.Sink Rail Fix Kit

04



WOCHIN

EASY MOUNTING SYSTEMS Installation Steps

1.Pre-bury M22 screws in the concrete foundation before install the system

A: Transverse Span

According to the drawings and advice, pre-bury
the screws in the concrete foundation.

Pour the concrete foundation as the transverse
span.

& 0]

Notice:Confirm the distance between the S
screws. This is for reference. o o
) @]

2.Fix the Base Pole on Foundation

Use M22 nuts with pre-buried M22 screws to fix the base pole. Repeat this action. Make sure every base pole is
fixed tightly on the concrete foundation.

05



\VOCI-i N Installation Steps

EASY MOUNTING SYSTEMS

3.Fix the Support Beam on the Base Pole

Use M20 screws and nuts to
z fix the support beam and
base pole. Repeat this action.
Make sure every support
beam is fixed tightly on the
base pole.

Use purlin splice with 8PCS M12 screws and nuts to connect the C-purlins. Repeat this action. Make sure the
C-purlins are connected by the splice correctly.

06



\voc I-i N Installation Steps

EASY MOUNTING SYSTEMS

5.Fix the C-purlins on Support Beams

Use M12 screws and nuts fix the
C-purlins on support beams.

Follow the position of pre-assembled
C-purlin fix kit on the support beam.
Make sure every C-purlin is fixed tightly
and correctly.

Waterproof carport preview

No-waterproof carport preview

07



WOCHIN

EASY MOUNTING SYSTEMS Installation Steps

6.0ptionl: No-waterproof, install the panel directly

6.1 Confirm the position of the starting hole on C-purlin follow the drawings
6.2 Put the first panel on the starting hole, meantime fix with end clamps

Notice: the hole will be pre-digged on C-purlin

08



WOCH;:

Installation Steps

EASY MOUNTING SYSTEMS

tly

irec

©
d
| e
(4°]
o
Q
=
=
©
=

ins

No-waterproof,

6.0ptionl

6.3 Then install the second panel with mid clamp, and repeat this step until final panel

installed

Notice: the hole will be pre-digged on C-purlin

09



Installation Steps

EASY MOUNTING SYSTEMS

tly

(<]

o
]
c
©
o
@
<
whd
©
whd

INS

waterproof, i

No-

6.0ptionl

d with

IXe

the final panel outside fi

lly,

6.4 Fina
end clamp

No-waterproof Carport Installation Review

Waterproof of the system

=
=
w
—
=
©
o
=
=
w
S
(%)
=
-
L
=
I
i
w
c
i

ion2

7.0pt

7

purlins. Repeat this action. Make sure every

3 screws with sink rail fix kit to fix the Vertical Sink Rail on C-

sink rail is strongly fixed on the C-purlin.

Use M6




\voc I-i N Installation Steps

EASY MOUNTING SYSTEMS

7.0ption2: Waterproof of the system:

7.2 Second, install Sink Rail Kit

7.0ption2: Waterproof of the system:

7.3 Fix the panels with Horizontal Sink Rail, meantime with clamps
7.3-1 Put the panel on horizontal sink rail with sink rail kits which fixed before

Fix the outside of the panel first. Put the
horizontal sink rail under the edge of the
panel and fix the panel inside with horizontal
sink rail together.
Notice: Fix one horizontal sink when install
one piece of panel

11



Installation Steps

EASY MOUNTING SYSTEMS

WOCH;:

£
Q
e
(7]
)
(7]
Q
=
)
(T
o
(T
o
o
-
o
| .
[}]
e
4]
=
.2.
c
o
=
Q.
o
N~

7.3-2 After that, fix the first panel with End clamp to sink rail kits.




WOCH;:

Installation Steps

EASY MOUNTING SYSTEMS

Waterproof of the system

7.0ption2

3.1 to fix, use mid clamp to

then install next panel follow 7.2 and 7.

t panel,

IrS

install f

3 After
the panel

3
X

7

f

talled

Ins

til last panel

isun

repeat th

b

)
Vs
)
DX
XA
DKM
Wt Wl
O, 0 Y
(XK
a&&
o
4

/
(R0
W

Y
0N
D
W
¢$s
{ ss

h
\ )
NI
i s
sssssss..s.vssssss #ss#s......_..,
¢s«&q¢sﬁﬂﬁs ol
W Wl 1 G,
XN AKX
O i et
) $$9?§.¢ RN
W o G hi
W0 .
XD
3
Y

{0
h
¢, 9
nss s\
0 W
0 XTI
' WY
) W
X X
7
)
)

W A
W\ ss sss
A /
: 0k %
\ 0 il

i
‘"
h
4
ssf f
N %
0
(J sss
‘0

i

)
i
WA
i,
DDA
W
g

Y
’ 4
..sssss sssss
0 )
i

0

)
)
A
0
)
)
(0
)
/ Y

{
s‘v
Wl
O )
i i,
..ssssssss AR ) Y
i el
T
WO G e e
i o
i sl
{7
AR
RN
LN
sesss )

K
)
N
%
W 4 )
s&s Vit 0 7
W W
A
X
A
)
0

(/
Yol
A
4
0
i
o

O
s
)
0
3
‘)
§~
)
¢

)

XX
y

)

X 9,
%
0
o
)

Wl
XL
&sm&sﬁuﬁw@w\
KN
Wl 0,
N
AN
bt
SO
W
)
K
O




Installation Steps

EASY MOUNTING SYSTEMS

WOCH:

Waterproof of the system

7.0ption2

7.3-4 Finally, the final panel outside fixed with end clamp




Installation Steps

is, to ensure all mid clamp will be covered

installed, repeat th

in the middle of panel where the Mid clamp

Waterproof of the system

7.4 Fix the Caps on the panels

Fix the cap
by cap

7.0ption2

EASY MOUNTING SYSTEMS




WOCHIN

EASY MOUNTING SYSTEMS

Installation Steps

7.5 Option: Waterproof Carport with Edging

7.5-1 Use M6.3 screws to fix the edge fix kit on C-purlins where end clamp side
7.5-2 Then fix the left edging to that kits.

7.5-3 Follow the pre-assembled pad on the support beam, use M6.3 screws to fix the
other edging on the support beam.

16



Installation Steps

Waterproof without Edging

Waterproof with Edging

Make sure all components are securely fastened. Verify that the Carport Solar Mounting system is installed correctly,

reaches the required of designed.

-
(&)
Q

=
(&)
e

2
e

=

©

]
(7))
=

©
=

L
o0

EASY MOUNTING SYSTEMS




